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1.

The residual plots from two different sets of bivari-
ate data are graphed below.
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Explain, using evidence from graph A and graph B,
which graph indicates that the model for the data is

a g{mdﬁt.

3.
The table below shows the attendance at a museum in
select years from 2007 to 2013.

Attendance at Museum

Year 2007 20048 2009 2011 2013
Attendance [millions) 8.3 85 8.5 8.8 9.3

State the linear regression equation represented by
the data table when x = 0 is used to represent the
year 2007 and y is used to represent the attendance.
Round all values to the nearest hundredth.

State the correlation coefficient to the nearest
hundredth and determine whether the data suggest a
strong or weak association,
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2.
The table below represents the residuals for a line of
best fit.
x 2 3 3 4 ] 7 a8 10
Residual 2 1 =1 |-2-3[-2]-1 3
Plot these residuals on the set of axes below.
Residual
Using the plot. assess the fit of the line for these resid-
uals and justify your answer.
4.
The data table below shows the median diameter of
grains of sand and the slope of the beach for 9 natu-
rally oceurring ocean beaches.
Median Diameter of
Grains of Sand, 017 | 019 | 022 |oz3s|0z3s| 03 | oas | 042 | 08s
in Millimeters (=}
Slope of Beach,
in Degrees (y) 063 | 07 | o8z |o8e|145| 15| a4 | 73 | 113

Write the linear regression equation for this set of
data, rounding all values to the nearest thousandth.

Using this equation, predict the slope of a beach. to
the nearest tenth of a degree, on a beach with grains
of sand having a median diameter of 0.65 mm.
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